EARAROBEEIERT — 2 N— IBISH —F

2014528150 (+) 19@{£E5H

M C2—35# C2 #5%4mkE EEE R
[A&4£] 1% :100,000  ~ 2% :23,000 ™  33#%&:9,00M . 437%&:5000MH  53%&:3,000H
B ®RB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N NS H il :25. 20— . — BART (£8)
1 o | HATELR it 4 o 1(2_5)9 2-2-2-2 | 39.1 2 ;1526) EHE% "
LG4 TIATv— B:YIC RN b HE77—»4L
- - BERRE :26. —1-1- . - FIEE (£8)
2l 11| N—T1>N—=} N 56.0 (11216/2% 1399 1 3363) 5@#;511 .
R:HY oSN = BiHALLRTT AERERS
S S o R 4 4 | BEA— 1:26.7 4-3-3-3 | 39.5| — 3 415 | FHREPAE (1£%)
3|55 7Y K-k ¥53.0 (2 1/2) o) |, JPNEEH
RITIN-K BiSATALLY HET7—L
g . . HPEA : —7-7- — FHHEEAEE (£%)
4 APEIY EEEE i 4 L 1.(298).4 7-7-7-5 | 39.8 6 e(,;? e
R:FvIT BAALTIIHILIT =Eitie
. o — e &k TFER :28. ~5-4- . — EHAE (£E)
5 3| UN=1>TFR T EE, 1(32/%5 Yhaa (w08 ° (4325) Amsa
R:zZa—A>752F B:AvIvILTIL IWE B
o FHAFIR :28. —6-6- . - FIEF (£8)
N - BPEE 4| o8 e | eeer ool - | 4| a0 RS R
L:a2=—/xLlLy b BiFUFLFHA b wAR BERE
. . & . W - ¥ =
2lal 7l sy b=y # 8 /JA\SIJ;%%DMH 1_(229>.3 3-4-56 | 41.5 6 | 513 gE?E (=8)
AT MR BTV v IFs 9 i we
@ 1 — S —EBIEf
13=7r= 1,2,7,5,3,6,4
A== 1,2,5,7,3,6,4
Jol=5r= 1,2,5,3,7,6,4
40—+ — 1,2,5,3,4,7,6
[ N3
BB 2 310H 714K 1-2 100H B = 1-2 120M 3EHE 1-2-5 210
8 B 2 1004 2= 200M B H 2-1 540 K31 2-1-5 660
1 1009 1-5 150M

ABICOVWTRDTEEERROODE. TR LIV,




